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注 意 事 項 

 

１  問題冊子は、係員の指示があるまで開かないでください。 

２  受験番号・氏名を解答用紙（２枚以上ある場合は、全ての解答用紙）に

記入してください。 

３  解答は、問題ごとに、解答用紙の所定の欄に記入してください。 

 

 

 

 
 

 



次の英文を読んで問 1 から問 4 に答えなさい。 

  

この部分につきましては、著作権の関係により、公開しません 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



問 1 次の(a)から(c)を読んで、本文の内容に最も合うものを 1 つずつ選びなさい。 

 

(a) Why is Maya Cohen shocked about the obesity medicine that her doctor prescribed for 

her? 

1. The obesity medicine that she is taking is not helping her to lose weight. 

2. The obesity medicine that she is taking is too powerful for her. 

3. The obesity medicine that she is taking also causes heart disease. 

4. The obesity medicine that she is taking will not be paid for by her insurance.  

  

(b) Most obese patients do not ask for medical help because _____ 

1. they believe that medical help can cause high blood pressure. 

2. they believe that they can lose weight by themselves. 

3. they believe that the doctors will be able to help them lose weight. 

4. they believe that being overweight is not a bad thing.  

 

(c) Maya Cohen's doctor is very happy because_____ 

1. Maya Cohen is overweight and has high blood pressure. 

2. Maya Cohen is overweight and has heart problems. 

3. Maya Cohen is overweight and has a high blood sugar level. 

4. Maya Cohen is overweight and wanted to lose weight by exercising. 

  

 

問 2 次の(a)から(e)を読んで、本文の内容と一致する場合は 1 を、一致しない場合には 2

を選びなさい。 

 

(a) The drug Ozempic, Saxenda, and Wegovy are the same class of drugs but with different 

names.   

(b) Some doctors are very happy when their patients are overweight and have good insurance   

because they can make more money.   

(c) Most doctors do not realize that there are many options for weight loss drugs. 

(d) Doctors believe that more people should lose weight by eating less food and doing more 

exercise.   

(e) Ms. Cohen has more energy and no joint pains because she has lost weight.   

 

 

 



問 3 下線部（ア）(イ)の[   ]の中の語を適切な表現となるように並べ変えて、4 番目にく

るものをそれぞれ選択肢 1~4 の中から選びなさい。ただし、文頭に来る語も小文字で

表記されています。 

     

(a) (ア) [is / too / an / it / common / all ] 

       1. too   2. common  3. all     4. is 

 

(b) (イ) [ conditions / are / linked / medical / that / from ] 

       1. conditions  2. that    3. are     4. from 

   

問 4 英文を 45 ~ 50 字の日本語で要約しなさい（横書き）。  

 

  


